L12-2 CFP Output Power Amplifier

http://www.diyaudio.com/forums/solid-state/196089-112-2-cfp-output- amp -120w-2-8r.html

For closed-Loop-sims connect
Sources Ll and VI here

and close Jumper4

comment .step param prb list -1 1
set .param AC=1
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For OpenLoop-Sims set .param AC =0
place sources Li and Vi

uncomment .step param prb list -1 1
Run AC-Analysis

Plot: Loopgain with Middlebrook-Probe AolB=
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.step param prb list -1 1 ; set prb=0 to turn off probe 45.0801V 46V . . \Vee
.options plotwinsize=0 | | | N
.options method=gear < < <
.options numdgt=7 E, (g, g R31
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.param FFT=2**16 ;op © 4 C3 < mod 3 mod
.param simtime=numcyc/Freq+dlytime B
.param dlytime=dlycyc/Freq*(1-Square) 100p  630.995m\/4-44.4491V 545.783m +-3.24534m\W—45.9968V
.param timestep:(simtime-dlyt(ijmta)/lFll;T
.INCLUDE potentiometer_standard.li
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.param wip1=0.623 . D2
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SINE(0 {Vin} {Freq} 0) Q13 Q11 442265V Q12 Q18
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.param A_C:_l ﬁcu ﬁcub -45.9965 ﬁcn ﬁcmb
.param Vin=1.4142*0 R26 R27 R28 R34
.param Freq=1k 100p *1100p  |100n
Vsquare _param Square=1 68 68 68 0.22 mod
-45.2082V ‘ Vee
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